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A3 —2 BEVICERILILBEESNLIEEICHETLEE (1/2) _ _ REEE | ERI17TEE
SEfRtOME | BRES | 020A0723 | HT4 \ LEE(1) |  FrfEh ZFE—FE—F¥/HH
) SUERHhO TinZkEEd 51 Hh 2lERI A
Eﬁg TREOBBOEILHNOKRES TREDHBEILENORES TREOBBOSILNOKRES TREOHBESILNOKRES
R o= BT e | B2 | T mme | | em | B2 e T T | B2 T | T | e
1 100kN/mM#%#8 % % 1.00/0.00 ~ 1.01 115.12|3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00| 10.57 ~ 13.57 115.12|3mZEEZ D -~ - - -
s 1.00]1.01 ~ 8.79 100.00f Z=hl4t |0.00 ~ 8.79] 2.23 11.94 zHns 1.00] 5.00 ~ 10.57 100.00f #h 4t | 5.00 ~ 1357 2.23 11.94
9 100kN/mM#%#8 2 % 1.00]0.00 ~ 0.93 113.90| 3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00| 10.61 ~ 13.51 113.90| 3mZE#EZ D -~ - - -
s 1.00/093 ~ 8.71 100.00f Z=hl4t |0.00 ~ 8.71] 2.13 11.39 s 1.00] 500 ~ 10.61 100.00f #h 4t | 500 ~ 1351 2.13 11.39
3 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%i#B 2% -~ - - -
zhLst -l -~ - -| Zh st -~ - - - Zh st - -~ - -| Zh st -~ - - -
4 100kN/mM#%#8 2 % -l -~ - -|3mZEi#B 23 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
zh st -l -~ - -| Zh st -~ - - - zh st - -~ - -| Zh st -~ - - -
5 100kN/mM%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#B 2% -~ - - -
zh st -l -~ - -| Zh st -~ - - - Zh st - -~ - -| Zh st -~ - - -
6 100kN/mM%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 25 -~ - - -
s 1.00]0.00 ~ 3.96 4961 x4 (000 ~ 396 224 11.98 s 1.00] 500 ~ 6.00 4961 x| 500 ~ 6.00] 2.24 11.98
7 100kN/mM%#8 2 % 1.00]0.00 ~ 048 107.13|3m%*x#BZx 5% -~ - - —-| 100kN/m%#8 %% 1.00| 10.89 ~ 12.40 107.13|3m%*x#BZx 5% -~ - - -
s 1.00]048 ~ 8.27 100.00f Z=h 4t |0.00 ~ 8.27| 2.06 11.05 zHnLs 1.00] 5.00 ~ 10.89 100.00f Zh st | 500 ~ 1240 2.06 11.05
8 100kN/m#%#8 2 % 1.00{0.00 ~ 0.07 100.96| 3m#*#B =25 -~ - - —| 100kN/mM%#B % % 1.00] 10.53 ~ 10.70 100.96| 3m#*#B 2% -~ - - -
s 1.00]0.07 ~ 7.85 100.00f Z=hl4t |0.00 ~ 7.85| 2.19 11.73 s 1.00] 5.00 ~ 10.53 100.00f Zh 4t | 5.00 ~ 10.70f 2.19 11.73
9 100kN/mM#%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 7.27 92.58| =hLls 000 ~ 7.27| 1.95 10.43 zHnLs 1.00] 5.00 ~ 10.56 92.58| =nLlst | 500 ~ 1056 1.95 10.43
10 100kN/mM#%#8 2 % -l -~ - -|3mZiBZ 5 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 592 74.17| =hist 10.00 ~ 0.00] 1.68 9.01 s 1.00] 500 ~ 6.76 7417 =hilst | 500 ~ 6.76] 1.68 9.01
» 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 23 -~ - - -
s 1.00]0.00 ~ 593 7419 Zhl4t 1000 ~ 593| 1.91 10.22 s 1.00] 500 ~ 7.12 7419 =hlst | 5.00 ~ 712 1.91 10.22
12 100kN/mM%#8 % % -l -~ - -|3mZi#B2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 496 61.76] =hLls |000 ~ 496| 1.88 10.07 s 1.00] 500 ~ 550 61.76] =hLlst | 500 ~ 550 1.88 10.07
13 100kN/m#%#8 2 % -l -~ - -|3m%EiBZ % -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 2% -~ - - -
zh st -l -~ - -| Zh st -~ - - - Zh st - -~ - -| Zh st -~ - - -
1 100kN/m#%#8 2 % -l -~ - -|3mZiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
zh st -l -~ - -| Zh st -~ - - - zh st - -~ - -| #heist -~ - - -
15 100kN/M%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 25 -~ - - -
zh st - -~ - -| Zh st -~ - - - Zh st - -~ - -| #heist -~ - -
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SEfROEE | BRES | 020A0723 | HT4 \ LEE(1) |  FrfEh ZFE—FE—F¥/HH
) SUERHhO TinZkEEd 51 Hh 2lERI A
Eﬁg TREOBBOEILHNOKRES TREDHBEILENORES TREOBBOSILNOKRES TREOHBESILNOKRES
16 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
Zh st -l -~ - -| #hilst -~ - - - zh st - -~ - -| #hilst -~ - - -
17 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
Zh st -l -~ - -| Zh st -~ - - - zhLst - -~ - -| #hilst -~ - - -
18 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%i#B 2% -~ - - -
s 1.00]0.00 ~ 499 62.17] =hLls 000 ~ 499| 1.87 9.99 s 1.00] 500 ~ 550 62.17| =hlst | 500 ~ 550 1.87 9.99
19 100kN/mM#%#8 2 % -l -~ - -|3mZEi#B 23 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]/0.00 ~ 482 60.05| =hLis 000 ~ 482 241 12.87 s 1.00] 500 ~ 9.92 60.05| zhLlst | 500 ~ 992 241 12.87
20 100kN/mM%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#B 2% -~ - - -
s 1.00/0.00 ~ 4381 59.94| =hLls 000 ~ 481 2.41 12.88 s 1.00] 500 ~ 9.92 59.94| ZhLls | 500 ~ 992 241 12.88
91 100kN/mM%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 25 -~ - - -
s 1.00/0.00 ~ 6.18 77.63| =hlst 1000 ~ 6.18] 2.14 11.43 s 1.00] 500 ~ 949 77.63| Thilst | 500 ~ 949 214 11.43
99 100kN/mM%#8 2 % -l -~ - -|3m%Ei#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEiB 23 -~ - - -
Zh st -l -~ - -| Zh st -~ - - - zh st - -~ - -| Zh st -~ - - -
23 100kN/m#%#8 2 % -l -~ - -|3mZEi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 5 -~ - - -
s 1.00]0.00 ~ 279 36.30| =h Lot -~ - - - s 1.00] 500 ~ 532 36.30| =h Lot -~ - - -
o4 100kN/mM#%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 7.35 93.66| =hLls 000 ~ 0.00| 1.61 8.63 zHnLs 1.00] 5.00 ~ 10.27 93.66] zhLls | 500 ~ 10.27| 1.61 8.63
25 100kN/mM#%#8 2 % -l -~ - -|3mZiBZ 5 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 7.35 93.66] =hLls 000 ~ 0.00| 1.61 8.63 s 1.00] 5.00 ~ 10.27 93.66] zhLlst | 500 ~ 10.27| 1.61 8.63
26 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 23 -~ - - -
s 1.00]0.00 ~ 7.73 99.27| #h L4 |000 ~ 7.73] 1.80 9.62 s 1.00] 5.00 ~ 10.42 99.27| #h st | 500 ~ 1042 1.80 9.62
97 100kN/mM%#8 % % -l -~ - -|3mZi#B2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 755 96.59| =hLls |000 ~ 755| 1.85 9.93 s 1.00] 500 ~ 10.14 96.59| =hLlst | 500 ~ 10.14[ 1.85 9.93
28 100kN/m#%#8 2 % -l -~ - -|3m%EiBZ % -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 2% -~ - - -
s 1.00]0.00 ~ 755 96.58| =h Ll |000 ~ 755 2.29 12.25 ZHns 1.00] 500 ~ 10.14 96.58| =h L4t | 500 ~ 10.14[ 2.29 12.25
29 100kN/m#%#8 2 % -l -~ - -|3mZiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00/0.00 ~ 7.14 90.75| #hLlst |000 ~ 7.14] 1.92 10.26 s 1.00] 500 ~ 954 90.75| #h L4t | 500 ~ 954 1.92 10.26
100kN/M%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ ZThst ~




